TIHI0OFEECAMETE (REA)—E
(CESOEE—RESTHIEFE (F25))

(1) —KEF-HFAl=E (BT %)
= i A& fHIERTDEE| HIERE &t i

— fi& = £t 49,927,000 2,376 49,929,376|  0.00
e Al = £t| 29,463,700 0| 29,463,700/  0.00
K E &K% 5l & &| 16,266,000 0| 16,266,000  0.00
it & R K % A = & 10,364,400 0| 10,364,400 0.00
ZHEhEBERES AN RET 1780000 0| 1,780,000  0.00
EEERPFKEEFIRE 896,900 0 896,900  0.00
ITHREEESEXSIRE 156,400 0 156,400  0.00
a &t 79,390,700 2,376 79,393,076|  0.00

(2) KEBXRE (B T %)
X % fHIERTDRE| #HIERE &t P

RO# B - A 4,128,198 0| 4128198/ 0.00
&% M X W 3,546,124 0| 3,546,124 0.00
E X B I A 320,705 0 320,705/  0.00
E X M X H 1,856,544 0| 1,856,544 0.00
(3) FTKREHEERF (B FH. %)
X % fHIERTDEE| HIERE &t HaE R

& M IR A 3,744,901 0| 3,744,901 0.00
v & M X H 3,741,183 0| 3,741,183  0.00
E A WM X A 2,234,211 0| 2234211 0.00
E X B X H 2,988,494 0| 2988494/ 0.0




	（率あり）会計別

